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Conditionals



Boolean Values

I True

I False

>>> print(True)

True

>>> print(False)

False

>>> print(type(False))

<class ’bool’>

>>> print(type(’True’))

<class ’str’>

>>> print(type(True))

<class ’bool’>
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Boolean Expression

I results into a boolean value

>>> print(3 == 3)

True

>>> print(3 == 1)

False

>>> print(’CSE 100’ ==

’CSE 100’)

True
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Relational Operators

== x == y x is equal to y

!= x != y x is not equal to y

> x > y x is greater than y

< x < y x is less than y

>= x >= y x is greater than or equal to y

<= x <= y x is less than or equal to y

*** == is different from =

*** no such thing as =< or =>
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Quick Quiz

Valid Boolean Expression?

1. True

2. 2 == 1

3. ”False”

4. 21 + 60

5. ’Python’ == ’python’
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Logical Operators

I and

I or

I not

>>> x = 3

>>> print(x > 1 and x <

21)

True

>>> n = 25

>>> print(n % 2 == 0 or

not n % 5 == 0)

False
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Quick Test

Your student id is x, expression to check-

I you are in section B.

I you are in lab section B2

I you are not in lab section B1
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Precedence & Associativity of Operators

Operators Category Associativity
() Parentheses -

** Exponent R �L
*, /, //, % Multiplication L �R

+, - Addition L �R

==, !=, <=, >=, >, < Relational -

not Logical L �R

and Logical L �R

or Logical L �R



Quick Test

5+18//3*2**2**3-1 = ?

1. 388

2. 1540

3. 4

5+18//3*2**2**3-1

5+18//3*2**2**3-1

5+18//3*2**8-1

5+18//3*2**8-1

5+18//3*256-1

5+18//3*256-1

5+6*256-1

5+6*256-1

5+1536-1

5+1536-1

1541-1

1540
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Conditional Execution

At Last!
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Chained Conditionals



Chained Conditionals



Nested Conditionals



Practice Problems

I Find only the real solutions of the quadratic equation.

I Test whether a given year is leap year or not.


